EARAROBEEIERT — 2 N— IBISH —F 2016518260 () 12@)11I52H

mﬂﬁ%Sﬁ 60 36ALE7 4K ‘ [Xfg] B ‘ [EME] — | & (&) 14000 B
[x&<£] 1% :1,200,000 @ ~ 23%&:360,000  ~ 337%&:216,000 @ ~ 4 3&:144,000  ~ 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 - S 3 | SEHER 1:34.8 1-1-1-1 | 40.7| - 1 425 | LAt (J110&)
111 |7y 17477 54.0 = ) | B) ¥rOurTw—L
R:hT/RI47T BTV XA RLF J—=HTp—L
7 = . # 3 | BEEK 1:35.3 4555 |40.8| — | 6 | 443 |HAEX ()
2155 J—-JbFr>ayy 54.0 (2 1/2) -7) FHEEAN
RiAvONAY— B:FRUTLIR HET 7 — L
3 i 3 | mE+ 1:35.6 3-3-4-4 |41.3| — 2 424 | WEE (11E)
> DR &Pt 54.0 1172 (e | THESA
LRZ R N=IN— B:T71H—-XF19F E4hTT—L4
BTHEZ . 43— = BE=% (J1l&)
4177 KIA NIy 4 3 54.01_15? 1(.5/%)8 5-4-3-2 | 41.5 5 (4_1;) =
R:ATIRSAY B:IA—T v B =i
= . B 3 | EEREA 1:35.8 9-9-8-8 | 40.3| — 4 435 | Wit (J11E)
53|77 vE—-2 64.0 (N Ly | AL
RTFRIAY TN BT PPZUL )
S j 43 | A 1:35.8 7-7-8-8 | 40.5| — 9 416 | RitkE (1)
s 6| /YA b yO—-1— 54.0 (727) © | ) FEA-ay—EX
L:hTY/ RI47 B:asOvH—F EiEs e
= it 3 | FRER 1:36.0 6-6-6-6 | 41.1| — 3 441 | FLETAER ()1]08)
718lg| ARETI1Z 54.0 (4 1/2) ) ") EvILy KTr—1
RBALNTRY IR B:avFLTILT KT 7 — L
s 4 3 | EHA 1:36.7 8-8-7-6 |41.8| — 8 430 | LEBE (118)
glglg|lE¥/Yadt— 54.0 3) (o) | EREER
RHISTLIFL N B ITMYa—L Tij:=CTe)
o3 . . EHRR :36. —-2-1- . — 1EREE= (JI1E
N AES P 850 7 IR R "G ke
L:ZZXHwR B:LECN—b KEHS
® I—F—@EBIERL
13—4— 1,4,2,5,7,8,6,9,3
Ao=5"= 1,4,2,7,5,8,6,9,3
3T—7— (1,4),7,2,5,8,9, (3,6)
43—F— 1,(4,7),2,5,(8,9), (3,6)
[ RN
-y 1 1208 | [ 74 K 1-5 680M | | # = 1-5 1,910 | | 3&4& 1-2-5 1,470
# B 1 1004 1-2 170H B 1= 1,870H EE 1-5-2 8,740M
5 380M 2-5 860M B & 1-5 2,050
2 140/ B H 1-5 2,720M

ABICOVWTRDTEEERROODE. TR LIV,



